	TERMS		ACTI	ON TIRE	CO.		ATLANTA COMMERCIAL TIRE (BID #1)						
RETREAD TIRES (CCSD cas				NET 30					NET 30				
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty		
245/75R22.5	325	18		\$69.00	\$22,425.00	Down to 2/32 tread life	18/32	BANDAG UAP (Ultra All Position)	\$72.76	\$23,647.00	Workmanship / Material Prorated or Remaining tire depth		
255/70R22.5	25	18		\$70.00	\$1,750.00	Down to 2/32 tread life	18/32	BANDAG UAP (Ultra All Position)	\$74.68	\$1,867.00	Workmanship / Material Prorated or Remaining tire depth		
10R22.5	275	18		\$72.00	\$19,800.00	Down to 2/32 tread life	18/32	BANDAG UAP (Ultra All Position)	\$76.92	\$21,153.00	Workmanship / Material Prorated or Remaining tire depth		
11R22.5	500	18		\$78.00	\$39,000.00		18/32	BANDAG UAP (Ultra All Position)	\$86.02	\$43,010.00	Workmanship / Material Prorated or Remaining tire depth		
TOTAL					\$82,975.00					\$89,677.00			
NEW TIRES													
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty		
245/75R22.5	100	G	GOODYEAR	\$188.00	\$18,800.00		G		NO BID				
25570R22.5	125	G	GOODYEAR	\$219.00	\$27,375.00		G		NO BID				
10R22.5	300	F	GOODYEAR	\$198.00	\$59,400.00		F		NO BID				
11R22.5	425	G	DUNLOP	\$219.00	\$93,075.00	BY GOODYEAR	G		NO BID				
TOTAL					\$198,650.00								
GRAND TOTAL					\$281,625.00								
ADDITIONAL ITEMS													
			Unit	Price				Unit	Price				
Price per section repair with retread			\$18	3.00				\$10	0.00		Workmanship / Material		
Price per section repair without retread			\$18.00					\$20	0.00				
Price per casing to scrap			\$16.00					\$20.00 \$6.50					
Percentage Discount offered for other items of similar scope			50				NO BID						

	TERMS	ATLA	NTA COM	IMERCIA	L TIRE (E	BID #2)	ATLANTA COMMERCIAL TIRE (BID #3)						
RETREAD TIRES (CCSD casi				NET 30					NET 30				
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty		
245/75R22.5	325												
255/70R22.5	25												
10R22.5	275												
11R22.5	500												
TOTAL													
NEW TIRES													
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty		
245/75R22.5	100	G	BRIDGESTONE R250F	\$198.00	\$19,800.00	5 years, 2 retreads	G		NO BID				
25570R22.5	125	G	BRIDGESTONE R250ED	\$190.00	\$23,750.00	5 years, 2 retreads	G	FIRESTONE FS560	\$180.00	\$22,500.00	5 years, 2 retreads		
10R22.5	300	F	BRIDGESTONE R250F	\$190.00	\$57,000.00	5 years, 2 retreads	F	FIRESTONE FS560	\$187.00	\$56,100.00	5 years, 2 retreads		
11R22.5	425	G	BRIDGESTONE R250F	\$213.00	\$90,525.00	5 years, 2 retreads	G	FIRESTONE FS560	\$208.00	\$88,400.00	5 years, 2 retreads		
TOTAL					\$191,075.00								
GRAND TOTAL													
ADDITIONAL ITEMS													
			Unit Price					Unit	Price				
Price per section repair with retread			\$10	.00		Workmanship / Material		\$10	0.00		Workmanship / Material		
Price per section repair without retread		\$20.00					·						
		\$20.00 \$6.50					\$20.00						
Price per casing to scrap Percentage Discount offered for other							\$6.50						
items of similar scope			NO	BID			NO BID						

	TERMS	ATLA	NTA COM	MERCIA	L TIRE (E	BID #4)	ATLANTA COMMERCIAL TIRE (BID #5)						
RETREAD TIRES (CCSD cas				NET 30					NET 30				
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty		
245/75R22.5	325												
255/70R22.5	25												
10R22.5	275												
11R22.5	500												
TOTAL													
NEW TIRES													
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty		
245/75R22.5	100	G		NO BID			G	MICHELIN XZE 235/80R22.5	\$240.00	\$24,000.00	SEE ATTACHED		
25570R22.5	125	G	CONTI HSR1	\$214.50	\$26,812.50	5 years, 3 retreads	G	MICHELIN XZE	\$230.00	\$28,750.00	SEE ATTACHED		
10R22.5	300	F	GENERAL S360	\$192.50	\$57,750.00	5 years, 3 retreads	F	MICHELIN XZE	\$234.95	\$70,485.00	SEE ATTACHED		
11R22.5	425	G	GENERAL S360	\$212.50	\$90,312.50	5 years, 3 retreads	G	MICHELIN XZE2	\$266.00	\$113,050.00	SEE ATTACHED		
TOTAL										\$236,285.00			
GRAND TOTAL													
ADDITIONAL ITEMS													
			Unit Price					Unit	Price				
Price per section repair with retread			\$10	0.00		Workmanship / Material					Workmanship / Material		
Price per section repair without retread			\$20.00					\$20	0.00				
Price per casing to scrap			\$6				\$6.50						
Percentage Discount offered for other items of similar scope			NO	BID			NO BID						

	TERMS		NTA CON	MERCIA	L TIRE (B	SID #6)	ATLANTA COMMERCIAL TIRE (BID #7)						
RETREAD TIRES (CCSD cas				NET 30					NET 30				
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty		
245/75R22.5	325												
255/70R22.5	25												
10R22.5	275												
11R22.5	500												
TOTAL													
NEW TIRES													
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty		
245/75R22.5	100	G		NO BID			G		NO BID				
25570R22.5	125	G	BF GOODRICH ST230	\$204.00	\$25,500.00	SEE ATTACHED	G	HANKOOK AH12	\$192.07	\$24,008.75	5 years, 2 retreads		
10R22.5	300	F	BF GOODRICH ST230	\$207.50	\$62,250.00	SEE ATTACHED	F	HANKOOK AH12	\$199.44	\$59,832.00	5 years, 2 retreads		
11R22.5	425	G	BF GOODRICH ST230	\$238.50	\$101,362.50	SEE ATTACHED	G	HANKOOK AH12	\$221.55	\$94,158.75	5 years, 2 retreads		
TOTAL													
GRAND TOTAL													
ADDITIONAL ITEMS													
			Unit	Price				Unit	Price				
Price per section repair with retread			\$10			Workmanship / Material			0.00		Workmanship / Material		
Price per section repair without retread			\$20.00										
				.50			\$20.00						
Price per casing to scrap Percentage Discount offered for other items of similar scope			NO NO				\$6.50 NO BID						

											1	
	TERMS		HIL	L TIRE (CO.		QUICK FLEET TIRE SALES					
RETREAD TIRES (CCSD casi				NET 30			NET 30					
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	
245/75R22.5	325	18/32"		\$69.86	\$22,704.50	SEE ATTACHED	18/32	Regional Intercity Ribbed	\$83.00	\$26,975.00	Life of Tread 3/32	
255/70R22.5	25	18/32"		\$71.23	\$1,780.75	SEE ATTACHED	18/32	Regional Intercity Ribbed	\$77.50	\$1,937.50	Life of Tread 3/32	
10R22.5	275	18/32"		\$69.86	\$19,211.50	SEE ATTACHED	18/32	Regional Intercity Ribbed	\$80.00	\$22,000.00	Life of Tread 3/32	
11R22.5	500	18/32"		\$77.80	\$38,900.00	SEE ATTACHED	18/32	Regional Intercity Ribbed	\$76.00	\$38,000.00	Life of Tread 3/32	
TOTAL					\$82,596.75					\$88,912.50		
NEW TIRES												
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	
245/75R22.5	100	G	BRIDGESTONE	\$202.93	\$20,293.00	R250. SEE ATTACHED	G	GOODYEAR G149RSA	\$184.83	\$18,483.00	Until Treadware indicator visible	
25570R22.5	125	G	FIRESTONE	\$195.42	\$24,427.50	560. SEE ATTACHED	G	GOODYEAR G149RSA	\$213.50	\$26,687.50	Until Treadware indicator visible	
10R22.5	300	F	GENERAL	\$196.11	\$58,833.00	S360. SEE ATTACHED	F	GOODYEAR G149RSA	\$195.00	\$58,500.00	Until Treadware indicator visible	
11R22.5	425	G	FIRESTONE	\$203.72	\$86,581.00	560. SEE ATTACHED	G	DUNLOP SP160	\$201.48	\$85,629.00	Until Treadware indicator visible	
TOTAL					\$190,134.50					\$189,299.50		
GRAND TOTAL					\$272,731.25					\$278,212.00		
ADDITIONAL ITEMS												
			Unit Price					Unit	Price			
Price per section repair with retread			\$15.00					\$33	3.00			
Price per section repair without retread		\$25.00						-				
		\$4.00					\$33.00					
Price per casing to scrap Percentage Discount offered for other items of similar scope							\$4.00 NET					

							1					
	TERMS		SI	NIDER TII	RE		SNIDER TIRE (Alternate Bid)					
RETREAD TIRES (CCSD cas				NET 30					NET 30			
TIRE SIZE	Est. Qty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	TREAD DEPTH		Unit Price	EXT. PRICE	Warranty	
245/75R22.5	325	18/32	OLIVER	\$67.30	\$21,872.50	SEE ATTACHED	18/32	MICH	\$85.76	\$27,872.00	SEE ATTACHED	
255/70R22.5	25	18/32	OLIVER	\$67.30	\$1,682.50	SEE ATTACHED	18/32	MICH	\$83.77	\$2,094.25	SEE ATTACHED	
10R22.5	275	18/32	OLIVER	\$69.31	\$19,060.25	SEE ATTACHED	18/32	MICH	\$81.94	\$22,533.50	SEE ATTACHED	
11R22.5	500	18/32	OLIVER	\$72.60	\$36,300.00	SEE ATTACHED	18/32	MICH	\$93.09	\$46,545.00	SEE ATTACHED	
TOTAL					\$78,915.25					\$99,044.75		
NEW TIRES										_		
TIRE SIZE	Est. Qty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	Load Range	Manufacturer	Unit Price	EXT. PRICE	Warranty	
245/75R22.5	100	G	MI	\$235.00	\$23,500.00	SEE ATTACHED	G	MICH	\$235.00	\$23,500.00	SEE ATTACHED	
25570R22.5	125	G	CONTINENTAL	\$212.00	\$26,500.00	5 years, 3 retreads	G	MICH	\$230.00	\$28,750.00	SEE ATTACHED	
10R22.5	300	F	GENERAL	\$181.00	\$54,300.00	5 years, 3 retreads	F	MICH	\$235.00	\$70,500.00	SEE ATTACHED	
11R22.5	425	G	GENERAL	\$201.00	\$85,425.00	5 years, 3 retreads	G	MICH	\$266.00	\$113,050.00	SEE ATTACHED	
TOTAL					\$189,725.00					\$235,800.00		
GRAND TOTAL					\$268,640.25					\$334,844.75		
ADDITIONAL ITEMS												
			Unit	Price				Unit	Price			
Price per section repair with retread			\$15	5.00				\$15	5.00			
Price per section repair without retread												
		\$25.00 \$6.00					\$25.00					
Price per casing to scrap Percentage Discount offered for other items of similar scope			\$6 NO				\$6.00 NO BID					